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HOFD( kgD TEINALETZ( )gOFTEHRLELLD.

O  6kg - @ 50kg =
@ 763kg = 28kg =
® 206kg = @ 30kg =
® 84kg = 62kg =
® 500kg = @ 900kg =
©® 5kg = @ 20kg =

BOFD( )gORTESNEESE( kgD TELELLS,

© 4000g = @ 19000g =
@ 90000g = @ 339000g =
® 600000g = @ 170000g =
53000g = @ 80000g =
@ 70009 = @ 300000g =
801000g = @ 176000g =




A VNS ul/ b UN

HO¥D( )kgOWTEINLESE( )gOBTELILL,
O® 6kg = 6000g @  50kg

@ 1763kg = 7630009 28kg
@ 206kg = 206000g @  30kg

@ 84kg = 84000g 62kg
® 500kg = 5000009 @ 900kg
®  5kg = 50009 @  20kg
HOX¥n( )gOBTEINLESE( kgD TELILL,
® 40009 = 4kg @ 190009
@ 90000g = 90kg @ 3390009
® 600000g = 600kg @ 700009
53000 = 53kg @ 80000g
@ 17000g = 7kg @ 300000g
801000g = 80| kg @ 760009
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